QuesTion 1 Expand the following expressions.

a  3(a+2b)= b 53a+h)= 2(4a+b)=
d 708m+2n)= e 8(6m —n)= 4(3x +8y)=
g Sx+2y=_ h  69a-2b)= 53a-b)=
QuEsTIoN 4  Expand.

a  6(3y+3)= b 7(8a-3b)= Yx—y)=
d  58y-7)= € A4(5a-2b)= 2Qa+b)=
g 23x-2y= h  pGBp-6)= T(a+3b)=
QuesTtion1 Expand the following expressions.

a 3(x+y)= b 5(2a +3b) =

¢ 4(2a+3) = d 6(8a-7b) =

e 8(m+3p)= f 3(5a-4m) =

QuesTion 1 Expand the following expressions.

a 2(a+3b)= b 8(2a+0b)= 3(5a +b) =

d 5(2m+5n)= e 7(5m-n)= 5(3x +8y) =
g 6(x+3y)= h  9(6a —5b)= 6(4a —2b) =
QuesTioN2  Expand.

a 6(2a+7)= b y(y+7)= 10(3x —8y) =
d m@2m+3)= e 9Bx-y)= 2a(a+b) =

g k(3k-2)= h x(x+15)= 3p(p-7)=
QuEsTIoN2  Write these expressions without grouping symbols.

a -3(x+2)= b -5x(2x+1) =

¢ —2ex-7) = d -2x(8x-3y) =

5 Expand each of these, then collect the like terms.

a 3n+4d)+5n+2) b

6(z+5)+4(z—-2)

¢ T(p—-2)+8(p+3)



